EARAROBEEIERT — 2 N— IBISH —F

201656 A9H () 4mAFH4H

K> %3 265AL315AkKH

EZS

‘ [REBE] — | & (&) 12000 FHE

[A~&£] 1 7% :1,600,000  ~ 237 :640,000 @ 3 7 :400,000 §

4 7 240,000 B 5 3& : 160,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
HEXEH . = — TSR (A
: 9 IILTH—I 4 3 a5 1.(1_3).8 2-2 38.3 2 (4351) %Bﬂﬁﬁ;ﬁ (1)\#k)
R:d—IR7Ya—)b B:d—T74 91> HET77— L
N .= . )3 14. - . = FTEFE (KH)
7 6 BN #os B 1(144)7 12-11 | 38.1 3 422)2 AL
R:¥x>inq4o— B:vyLbht—t =it B
_ 43 | EHEER 1:14.8 6-6 38.7| — 5 433 | RIMR (KFH)
3 4 Y AA 7AaXx 56.0 (1/2) +1) %2’5%53
L:KU—LZXTLy K BNXITyTS59Y = X
° 5 4 3 | FEHEE 1:14.9 9-9 38.6| — 6 419 | SIEEE (KH)
4(8|13|FNETa AT 54.0 (172 Gy | e
RNAT ==L B:ov72Ta PR ]
=45 4 3 | HlRThiA 1:14.9 11-10  [38.6| — 8 412 | ERRIME (KH)
50712/ A7 17 bT14F— 54.0 (7€) (1) | EEER
LT RYAY Ty UX BSLRIE— =REANS
S . i 3 | ElIFERtL 1:15.0 14-14  [37.9| — 12 | 443 |"EREZ (IE)
Eﬂ | woion o (72 5 |E2
LY LTAN—F BETU—SAHF> chR4f5
o = o 4% 3 | FHEEE 1:15.2 10-8 38.9| — 7 422 | IBEERE (KH)
715]7 AEE—=714—X 54.0 1) (+1) 1'_LIJ.I133:E
L:VvA4T7obyvh— BEa—FT17A B L
2= P 1) — 4 3 | BB 1:15.2 828 39.4| — 11 467 | REEE (KH)
Eﬂ 6|71 7V—> 56.0 2 E) 1) KERSR
Z:n—-x>7U> B:Tavuxvy/NF KEE
< # o3 | ARG 1:15.2 13-12 [38.2| — 4 472 |BHAE (kH)
9|7|11| F/YTN 56.0 7E) 1) | B Fr—2pEYar
LV TATIML R B Fe YR NS e
i 4 3 | RERZ 1:15.4 1-1 40.0| — 1 531 | IBE=EE (KH)
EE 2| 7# A= 56.0 (3/4) 3 BEE—
R:/ RS vyy B:d—IK&—7 TTEH S
- 43 | HEllRE 1:15.7 7-7 395 — 10 | 436 |IBHEER (KFH)
11|18 (14 AL < I ZA =S ¥¢53.0 A 1/2) +1) (%) Szj‘—L\z:—T?‘/&lfr‘y
Y9254 752 B:bhy7Ord v 7Y s
S S0y s 3 | AEOBE 1:16.3 5-5 40.3| — 9 410 | SIREELE (viA)
12111 |F>>¥—773Y 54.0 3) 1) |BOE
RBALINS Ry IR BiU— KNS INET 7 — L
= s, # 3 | RAS 1:16.4 4-4 40.6| — 13 | 461 |BRA—R (K¥#)
13|58 | T71~3~ 56.0 (172) ) | LARE
g/ F¥LLy b B —La N4 T AL TIVT 57— L
B3 | TS 1:17.2 8-12 40.9| — 14 | 438 |fEEH#Z (KH)
EH 3| ZAAHI—H 54.0 (4) (ta) | FUEIMEEE
L:Fa15>8) B:Ly KNF—F TREFHS
® 1—F—@EBIERL
13—7-—
2o=5"=
Ja=5= 2,9,6,8,1,4,14,3,13,7,12,10,11,5
40—F— 2,9,6,8,1,4,14,7,13,12,10, (3,11) ,5
[ N5
B 9 320M 714K 9-10 680 e E 6-6 2,040 JEE 4-9-10 5,400/
B B 9 180H4 4-9 1,070H e B 6-6 1,780 3EE 9-10-4 22,680
10 190 4-10 930M B & 9-10 1,610
4 280M B H 9-10 2,780M

ABICOVWTRDTEEERROODE. TR LIV,




